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5. ~ M BRERM B LTHEBMA L (rrigation system) Z RseiF - Hib > £ R0 BERPEFTHE SR TUTH
;g o

EB %% | 4 (drip line) "R 3§ (sprinkler) 3@ (surface)

ER | 51 36 33

BRREARE 0=005 T  RERFAABAKZMABF I FFREHERRYLBR  FRERZRELIE 2%
AR A ERBEER o (v 1005 =38%% To02s =502 ¥ 2005 =59%% 30025=738, ¥ 3005=
781, % 30025 = 9:35) (10 %)

6. ~RREXAARABEARBAKRATTUAXRAEY LY TR AFRAFABAIR (ESEERB) HE
R ENFLEHE - WETRTHE -

bl Ml MR 2 IR 3 MR 4 MRS IR 6 HIRT KK S
% R BT 18 21 14 12 17 16 15 12
BBk 5 1 2 3 8 7 10 6

EBEAE a=005 T RRMEMASTIRAAN LOFH? WA RS 4 E KA LM AR ZRERTE

RERR DM BMBEER  (t 5005 =1.943, o025 = 2447, t 7005 = 1.895,L 50025 = 2365t gg05 =

1.895,t go.025 = 2.306, t 14005 = L.761,t 140025 = 2.145, t 15005 = 1.753,¢ 450025 = 2.131, £ 14005 =
1746, 140005 = 2.120) (10 2)
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7. ZEARRRAEBRZAREET R TRIEHPRIRAEE (vield) ZM&HG - RIS EELFEZHEBTUATER &
BLTER-

REH R A (type)N-P-K* | B (concentration) (ppm)| AF (vield)
Type N (21-0-0) 50 54
Type N (21-0-0) 50 33
Type N (21-0-0) 50 64
Type N (21-0-0) 50 47
Type P (0-17-0) 100 80
Type P (0-17-0) 100 71
Type P (0-17-0) 100 | 69
Type P (0-17-0) 100 60
Type K (0-0-22) 200 60
Type K (0-0-22) 200 ' 55
Type K (0-0-22) 200 68
Type K (0-0-22) 200 61

*N-P-K: Ratio of nitrogen (N), phosphorus (P), and potassium (K). £.-8%-47t.

B4 A {EHEE (concentration) fu & ¥ (yield) 2 Re948 0] 547 (correlation analysis) o EFH| AT FR -
DR Z243AR KB cortestCLY)RFUTHR - HRTESLEEZ XT7HELTL Y7 HREEELRHSE

E
Pearson's product-moment correlation
data: XandY
t=0.92882, df = 10, p-value =0.3749
95 percent confidence interval:
-0.3484412 0.7365858
sample estimates:
cor
0.2818153 :
Q6 FTFHRAB M EH BB R SR T FREIERRYOESR -

24 B {EH ¥4 H(regression) » £ F Y £ F (vield)» X ZRE (concentration) - #H/FBUTHE -
G245 ZLA2ER RETHEFUTLR -3 HEHEE (B1 B2 B3). HBEH N LG REABHEE -

Coefficients:

Estimate  Std. Error  tvalue Pr(>|t])
(Intercept) 54.000 7.5281 7.173 3.02e-05
Concentration B1 0.0569 B2 B3
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B4 C:{EHEE%HF5d (One-Way Analysis of Variance) » #§ iEsk &4 388! (type)#v iR & (concentration) 424~ 48 — A2 R A1
# B F(factor) » FEFE|BLTEEK -
6)[3%] HL4EA R ETRERATEI>M& - HHEEMEE (C1,C2,C3,C4,C5,C6) - HFHE LT EBRIENR

BoEE -
Df Sum_Sq Mean_Sq F value Pr(>F)
factor C1 C3 C4 C6 0.0387
Residuals C2 797.0 Cs
Total 1681.7
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